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Solve by elimination:

1. 2x+3y=7 —» 3yT3y=7 Qx+ 2=3
2x+y:3 @ -Y_\j :’3 QX:'
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2. Bx-2yz4 —s Sx-ay=1 5(3)-ay=%
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3. A scientist wants to create 120 ml of a solution that is 30% acidic. To create this
solution, she has access to a 20% solutionand a 45% sofuhon How many millinlaters
of each solutionshould she combing to create the 30% sohd

Jct X= omet . g 0% SO(U«"/'IOﬂ
\5 a/nd‘ ‘/5% -

ﬁ%v X—@
20X +745 9% = 130

.aoan-3)+.953- X= 73
A4 «.903+.9‘53 =36
a5y = 12
3 Y 4
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What if you want to solve for 3 variables?
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How would you solve the following?

O 2x+3y-z=5H

©) 4x-y-z=-1
© X+4y +z=12%

OB ax wﬁzﬁ @D $ry-Y~-

X ¥4G ¥ =)o _x¥hyrz=ia
D 3xtTy=17 @5x+35=1\

D 2ATq=\T 225 :ysgmas% = 85
(® Sxt3y=1l X2 §ox ~9g-=-33

264 =52
OESIONL

3 IY=17
=D
o O D43(a) -2 =9
At b—"Z=5
-2 =5
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Solve:

O x+2y-z=8

@ y+z:4
©) X-y-z=2

D wtZ=4¢ O 6 tay-2=8 A atz=¢4
it SR S T

@ L&{%=“}

30=06
CD_& (6,2,3)
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